O WAl o] 5 24

A2 AL o AJY7L?
104 +1.3
O 24+0.3 @ 72+09
@ 19.2+24

@ 84+1.2
® 4806




. +0.2 :g+
2.392 + 0.26 100




& % UAlY] Fol A 2 AL ol AP

D 45.72+ 3.6 @ 4.572+36 ® 0.4572+ 3.6

@ 457.2+0.36 ® 4572 + 36






TR UReAle AT 02 Shure AL ol A1 BEA Q.

4.1)16.7
16 4
3

O 41x4+4+3=16.7 @ 41x3+4=16.7
® 41x4+4+03=16.7 @ 4.1%x3+40.03=16.7

® 41x04+0.3=16.7



. <EE =E YEyALe,

16.1+35 O 16.1




@ 46 7H

@ 477W

@ 48 7Y

@ 497}

® 5070



S A7kl 2.4k & A= Aol 10.08km S .o 9 ko] W
g7

> EE A7t



9. (loth=(h+th+(h:7h & W, Theg AstA 2.

D L
3%



10. oFS A12t3 ] Wols 56.55cm? ATk, BAY L} 28 ofo] Ak
Leg Uuog st 42 ot O W v o A gel &

0|7} 5.2 cm, B ©17F22.62 cm? 2HH O A2 9] =ol= 2 emYU7}?






12, of@ 5 114 B WFo] K& &5 4 A2|7HA] +-6H3 2.13 o]al
U2l 0.002 YUt o = AupelA] FoHA 2.

D
=%



13, ofw %o 3.9-2 T 0.819 7} H5UT oT 42 kA 9.

5 J=X
=%



14. Eo17F40.32cm? Q1 Ha AHEE Q] EolE FOHA 2.

2.8cm

1
T
| \
|
I
|
I

[ ]

1
/
/

-8 72cm- "~



15.

g R

b

29 BRAL PO

o] 77 58.2kg YU, Aol BFAIE

zZxA 0] 1.25 gieta
kg QY 7F?

B e kg

KX
=
kel

H

94

1

=
.

g

719] 1.2 Hje]

of EFAE



16.

36 +2.22 9] &2 ATt =AU HHE

A A o] 2248 T L.

B
:

i)



17. 276549 3¢ wedsto] 4% AA A7 73 gt F2
s stel 4% S AA7A 7@ kel A2 FohAl L.

D
=%



18. olH 45 2.7 & WeglEY Fol 2.43 o] 2, 42|71 0.019 G U
o] ol £2 42 2 t}iro] & 44 S A7 ol 1 o]
Yol Fate] Az 240,

5 L
=%
D

=%



<t 10

OFAA A4 e Wole 449 nir=9f Hol9

©
1

ot

19.

—’=2

~

~2.8cm-~

cm



1 A] Afole] A3} £Ao] ol 2to] 150°7} E T o] A|ZHL

Mz

g A AT T8 2.



